11-260 58 15 9
()
H L hc
Wave Direction
0
0
n / cos( o )
2T o T
T cosh ( ) sinh cos( o)
U2 2
T tanh

U mH T kh
Us ((mMH T sinhkh)»2 (1 4kh sinh2kh 1 2))70.5

0 nl/o tand

-519-



11-260

58 15 9

log(H/L) Y log R/( 22/2g)
Y  0.0906X2 1.8641X 0.6694 R U2 2 10
«( )
r 0.5
hc
R
\ 2 (R hc) o5
Vv 3 2 (R hc) 15 Qo T
mS=1/10 ¢5=1/8
¢5=1/8 0S=1/6
16 0S=1/6 g A S=1/5
S 4 2:32 & 0 S=1/4
O S5= =)
1 AS=1/3 s AS=1/3
1 X S=1/2 X S=1/2
H/L . eS=2/1 00001 0001 001 0.1 1 e 5=2/1
H/L
22[2
- mS=1/10 - mS=1/10
*5=1/8 *5=1/8
10 0S=1/6 0 1 0S=1/6
il AS=1/5 | | £ 00001 0 | as=Ls
:: 5 ©S=1/4
o ©S=1/4 S
S AS=1/3
1 AS=1/3 = o X S=1/2
1 X S=1/2 =
_ 05=1/1
" 05=1/1 oS
01 5=2/1 001
H/L L
E2 2 0.5

13

-520-




